Questions, Section 3.3 161

SECTION 3.3
dy 323 + 522 + \/x dy z?+ 3z
3.3.1 Find = ify = ———Y, 3. ind — if y = .
in 7z 1Y - 3.3.2 Fmdda:lfy T
- 1
3.3.3 Find f"(2) if f(z) = -ﬁs + 315. 3.3.4 Find % if y = ~2 (¢® - 5z) (3+ 7).
3.3.5 Find f/(s) if f(s) = (3s% + 4)(s* — 9s).
2r+1
3.3.6 Find f'(z) if = .
ind £'(2) if f(z) = S
3.3.7 K f(3)=2f(3)=-1,9(3) = 3,4/(3) =0, find F'(3)
(a) F(z)=2f(z) - g(z)
1
(b) F(z)=5f(z)o(z)
1 f(z)
c) F(z)=-=—0<=
d*y 5 u? -5
3.3. Find S ify=—= — —=. 3. i "(u) i =—.
3.8 ind ) ify rial 3.3.9 Find f'(u) is f(u) S 1
. dy . 2 3
8.3.10 Find = if y = (z* - 2) (z* + 52).
.y dv . 2 1.3 .
3.3.11 Find — ifv=n{ah®* - =h®}, a is a constant.
dh 3
3.3.12 Find f'(2) if f(z) = (z* + 1) (2* — 22% + z).
3.3.13 Find equations for the tangents and normals to the graph of y = 4 — 3z — 22 at those points where
the curve intersects the z-axis.
3.3.14 Find equations for the tangents and normals to the graph of y = 6 — z — 22 at the points where
the curve intersects the z-axis.
3.3.15 Find the points on the graph of y = 223 — 322 — 12z + 20 at which the tangent is parallel to the
r-axis.
3.3.16 Show that the parabola y = —z? and the line £ — 4y — 18 = 0 intersect at right angles at one of
their points of intersection.
3.3.17 Find the equation of the tangents and normals to the graph of y = : —_’- 1 at T =2,
3.3.18 Find the equation of the tangent and normal to the graph of y = 10 — 3z — z? at the point where
the curve intersects the z-axis.
3.3.19 Show that the parabola y = 22 and the line z + 2y — 3 = 0 intersect at right angles at one of their

points of intersection.



